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y >0, 5@l x 3R ywHe: 9 F, SR F, R shEa w1 <wi §; e ged
=Rs 104

3dtk F % 100 kg 3R 3 F, % 80 kg; =AqH e = Rs 1000
(D)
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11.

g 12 U¥ fafaer gonaeit

40 Ufre AP 3R 15 Ufehe wisa Q o; faarfi A &1 eifershad wem = 285
EETH]

PYHR & 3 9 3R Q ¥R & 6 oc; fH901 1 <[ JeI = Rs 1950
a1 1 =HAaH Ged Rs 112 (959 X &1 2 kg 1 99 Y 1 4 kg).

T HUt o 40 feshe qon WaRer 9ot o 160 feahe; sifasan & = Rs 136000.
A 110,50 340 ZHIEAT, B H : 50, 0 3R 0 ShTEAT 99 D, E SIRF 1 9t STl
% 9 =aH ged = Rs 510

A¥ : 500, 3000 37X 3500 e B §: 4000, 0 3R 0 &feX 9t %H9: D, E 3 Feh!
ISt STt & 9o a9 goF = Rs 4400

PYHR o 40 9 3R Q WehR o 100 ¥et; Are2isH 1 =JFa A = 470 kg.
PSR o 140 ¥t 3R Q UhR o 50 Uok; Aeeis w1 Afershad a1 = 595 kg.

. AWHR &I 800 TfeAl IR B WhR &1 400 Tfel; fushad es = Rs 16000

| womTErett 134 |
P(EIF) = 2, P(FIE) = ~ 5. p(aB)=12
3’ 3 25
. () 032 (i) 0.64 (iii) 0.98

1
26

4 L4 L2
) 11 (ii) s (iii) 3
L1 3 .6
) 5 (ii) - (iii) -
@ 1 i 0
1 9. 1 0. @2, )~
< : S @3 b g
N I 31
W 33 @ 5.3 Gi) 5.
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12.

14.

11.

12.

14.
17.

13.

SAHTA 625

1 1 I
L 15. 0 16. C 17. D
3 ) ) )

| woaTaett 13.2 |
3 ) 25 3 44
25 © 102 " 91
A 3R B TER @A ¢ 5. A 3R B WER @ T2 B
E 3R F 7o) @ad 18 ¢
o1 N
(1) P—IO (i1) P—5
G 0.12 i) 0.58 Gii) 0.3 (v) 0.4
3 R
3 10. A 3R B WER w@asd &t 2l
G 018 @) 0.12 Gi) 072 (v) 028
7 s 16 20 40
. - @ gy () gy G g
G2 L B N e |
() . i) 5 ORG) L@ 503,05
D 18. B

| woTerett 13.3 |
I 5 2 3. 2 4. 2
2 "3 13 13
22 6 4 - 1 3 I
133 "9 ) T4
2 0. = 11 El n 4
9 11 T34 " 50
A 14. C
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| woTaett 13.4
1. (i), (i) 3R (iv) 2. X=0,1,2;8 3. X=6,4,2,0
4. 0l x| o 1| 2
e = | &0 L
XN 7 2| 3
| x| ol 1| 2] 3
e 2 2 2 L
Xl 3| 3] 3| 3
givf x| o 1| 2] 3] 4
el A L 20 L b
Xl 6| 2| 3|2 | 16
5.0 X of 1| 2
ool 41 4] L
X195 9| 9
| x| o 1
poo| 2| 1L
X)) 36| 36
6 X| ol 1| 2| 3| 4
b 236] 256 96 | 16 1
X 625 625| 625| 625 625
7 X 2
2 [ o] L
XN 16| 16| 16
. 1 . 3 17
8. () k=— i) P(X<3)=— i) P(X>6)=—
@ 0 i) P( )10 (i) P( )100

(iv) P(0<X<3) =i
10
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9. (a) k:% (b) P(X<2)=%,P(XS2)=1,P(X22)=—

10.
13.

14.

15.

wn

=)

o

10.

11.

14.

627

1

2
1.5 11 l 12 E
| .3 -
Var(X) =5.833,S.D=2415
X 14 | 15 16 | 17 18 19 20| 21
ol 2 L2323t
(X) 15| 15 15 | 15 15 15 15| 15

e = 17.53, Var(X) = 4.78 3R S.D(X) = 2.19

-0 5

2
216

® 1024
. (1) (0.95)°
@iv) 1-(0.95y

ol
10
1
243

50
100

Al
1216

C

E(X) = 0.7 3% Var (X) = 0.21

12.

15.

16. B

| woTerett 13.5 |

64

S

@ 512
@) (0.95)*x1.2

(1)

1(2)49
®) 2\100

2(2)
1816

A
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17.

(i 64

243

() To24
i) 1-(0.95)*x 1.2

20
7. Gj [20C,, + 2°C,y +...+ 2Cy |

1_&(2)“9
(©) 100\ 100

22%x9°
1011
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12.

15.
17.

1

e 13 U¥ fafaer goraeit

@@ o
1
i) 5

10
4. 1=-)"°C.(0.9)(0.1)*"

r=17

; 7(2)4 " 1_(2)6 804
@ 735) G 5 ™) 3125
625 . 2
23328 C 7
10. n>4 n =2
. nz=z . 54
13 2 4 =
29 T 16
i) 0.05 16. L8
@) O. © 3
18. C 19. B
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